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DESCRIPTIONDESCRIPTION  

Opcode 

 

5 bits 

Operand 1 

 

3 bits 

Binary number 

 

16 bits 

• Use Java language 

• 24-bit ISA 

• Has 8 register > r0 – r7 (16 bits) 

• 5 opcodes > mov, add, sub, mul, div 



BINARY ANDBINARY AND  

CLOCK CYCLECLOCK CYCLE  
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INPUTINPUT  



VALUE OF REGISTERVALUE OF REGISTER  



STEP OF REGISTERSTEP OF REGISTER  



RESULTSRESULTS  



SAMPLE CODESAMPLE CODE   



 This is what I’ve already fixed 

about   2’s complement. I used this 

set of input for testing: 

mov r1 8         r1 = 8 

mov r2 6         r2 = 6 

sub r2 7          r2 = 6 - 7 = -1 

mov r3 r2        r3 = r2 = -1 

mul r3 2          r3 = -2 

mov r4 4         r4 = 4 

div r4 2           r4 = 2 

end 0 0 

 The results are showed as in 

the pictures.  


